
	
  
Texte	
  brut	
  
	
  
Laura	
  descend	
  de	
  son	
  arbre	
  :	
  mais	
  en	
  arrivant	
  sur	
  le	
  sol	
  Laura	
  voit	
  
un	
  éclair	
  dans	
  l’herbe.	
  C’est	
  le	
  collier	
  de	
  Léa.	
  	
  
Léa	
  regarde	
   le	
  collier	
   longuement	
  et	
  se	
  demande	
  quoi	
   faire.	
  Laura	
  
finit	
   par	
   prendre	
   le	
   collier	
   et	
   se	
   dit	
   :	
   je	
   rendrai	
   le	
   collier	
   à	
   Léa	
  
demain.	
  
	
  
	
  
	
  
Repérer	
  les	
  répétitions	
  
	
  
Laura	
  descend	
  de	
  son	
  arbre	
  :	
  mais	
  en	
  arrivant	
  sur	
  le	
  sol	
  Laura	
  voit	
  
un	
  éclair	
  dans	
  l’herbe.	
  C’est	
  le	
  collier	
  de	
  Léa.	
  	
  
Laura	
  regarde	
  le	
  collier	
  longuement	
  et	
  se	
  demande	
  quoi	
  faire.	
  Laura	
  
finit	
   par	
   prendre	
   le	
   collier	
   et	
   se	
   dit	
   :	
   je	
   rendrai	
   le	
   collier	
   à	
   Léa	
  
demain.	
  
	
  
	
  
	
  
Remplacer	
  par	
  des	
  substituts	
  	
  
	
  
Laura	
  descend	
  de	
  son	
  arbre	
  :	
  mais	
  en	
  arrivant	
  sur	
  le	
  sol	
  elle	
  voit	
  un	
  
éclair	
  dans	
  l’herbe.	
  C’est	
  le	
  collier	
  de	
  Léa.	
  	
  
La	
  petite	
  fille	
  le	
  regarde	
  longuement	
  et	
  se	
  demande	
  quoi	
  faire.	
  Elle	
  
finit	
  par	
  prendre	
  le	
  bijou	
  et	
  se	
  dit	
  :	
  je	
  le	
  lui	
  rendrai	
  demain.	
  
	
  


